Rechenkastchen
Ubungen

Erganze die Rechenkastchen.

1710 |- 510 |= 200 | 1590 |- 510 |=
470]-[ 290 =/ 180 320 -[220 =
-
1620 - 540 = | 1850 |- 730 |=
5éo - 3;0= | 3;0 - 1éo=
- -
1620]-/340 = | 1860 |- 470 =
500 |-[320'< | 560 |-[ 240 =
- -
1650-1450 = | 1870]- 770 =
360]-[170 = 550 - 540 =
- -
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Rechenkastchen
Lésungen

Erganze die Rechenkastchen.

1 710-| 510 |= 200 |
470|290 < 180
1620 |- 540 = 80 |
5éo - 3;0=220
1620 |- 340 = 280
5éo - 3é0=27o
1650 |- 450 |= 200
360 |- 170 =/ 190

1590 - 510 = 80 |
320 -[220 =/ 100
1850 |- 730 = 120
3;0 - 1éo=13o
1860 |- 470 = 390
5éo - 2éo=320

1870

770 =/ 100 |

1550 |- 540 = 10 |
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